

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

Form. 990-PF

. Department of the Treasury

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052

▶ Do not enter Social Security numbers on this form as it may be made public. ► Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf. Open to Public Inspection

	Inten	nal Rever	nue Service	► Information abou	t Form 990-PF and its	separate instruc	tions is	at www.irs	.gov/f	orm990pf.	pen :	to Public I	spection
	For	calen	dar year 20	13 or tax year beg	inning	,	2013, a	and ending				, 20)
	Na	me of fo	undation					A Em	ployer	identification nu	ımbe	r	
				RVAN FOUNDATION						38-24118			
	Nu	mber an	d street (or P C	box number if mail is no	t delivered to street address	3)	Room/su	rte B Tel	B Telephone number (see instructions)			ns)	
			INO DEL RE						616-874-8706				
	City	y or tow	n, state or prov	ince, country, and ZIP or	foreign postal code			C If e	kempti	on application is p	pend	ng, check	here ▶ 🗀
			RD, MI 49341										
	G	Check	ali that app	·		m of a former p	ublic ch	narity D 1. F	oreign	organizations, ch	eck l	nere	▶ [
				☐ Final return						organizations me			est,
				Address cl						ere and attach co			.under
				_	tion 501(c)(3) exempt			sec		7(b)(1)(A), check I			. ▶ [
					ble trust 🗸 Other to								
					J Accounting metho		_ Acci	1 1 11 11	e foun	dation is in a 60-r	nonti	termination	on
				n Part II, col. (c),	Other (specify)			unc	ier sec	tion 507(b)(1)(B), (Heck	riere .	
			<u>\$</u>		(Part I, column (d) must I	be on cash basis.	<u>,</u>				_	(-1) Db	
		artı		of Revenue and Exp	nenses (The total of lay not necessarily equal	(a) Revenue a expenses pe		b) Net investm	ent	(c) Adjusted ne	et	(d) Disbui for cha	ıntable
				ın column (a) (see instruc		books	"	income		income		purpe (cash ba	
*	_	1			ceived (attach schedule)	+						2	
		2			t required to attach Sch. B			} 				**	
*		3			rary cash investments			<u></u>		<u> </u>			
2014		4		and interest from se	-		.025	96	.025	96	025	i i	
e V		5a		s			,020		7				2.2
63		b		income or (loss)									
>	Ð	6a		· · · —	assets not on line 10	115	,276			To Take		. *\$	45
۸	Revenue	b		price for all assets on la			T				Ź		
•	Š	7			Part IV, line 2)	725		j 1'5	276	1.0.288			1 52
	æ	8							44	1/ 16 6,	930		1
SCANNED MAY		9					1 1			CA CONTRACTOR OF U	14		5.4
Ž		10a	Gross sales	less returns and allow	ances								
3		b	Less: Cost	t of goods sold .		11.							دات
Q		С	Gross prof	fit or (loss) (attach so	chedule)		X.		7.74		1	2	72
G		11			e)		332		332		332	24	30
		12					,633		,633	103,		<u> </u>	
	Ś	13	•	ation of officers, dire		24	,000	19	,500	19,	500		4,500
	Expenses	14	-	=	vages								
	Ser	15	-	· -	efits								
	Ä	16a	-	(attach schedule)					-				
		b		g fees (attach sched	•								
	≨	C		essional fees (attach					\dashv				
	ž	17					226		210		24.0		
	Ë	18 19			and depletion		,226		,216	<u>ə,</u>	216	Ŷ	10
	Ξ	20	-	•	· · · · · · ·				+			. 8	
	Ą	21		•	ings		9960		1980		980	-	4980
	p	22					598		598		598		0
	a	23	•	enses (attach sched			-		555				
	ij	24			nistrative expenses.								
	Operating and Administrative						,784	30	,294	30.	294		9,490
	þe	25	Contribution	ons, gifts, grants pai	d		,329	7 1					176,329
	O	26			nts. Add lines 24 and 25		,113	30	,294	30,	294		185,819
		27		ne 26 from line 12:						\$			5.5
		а	Excess of	revenue over expens	es and disbursements		480) 🗸	<u> </u>		1 2 2			
		b		tment income (if ne	_			181	,339				2 3 2
				net income (if nega	•	. (P)				72,	993		الكاكي
	For	Paper	work Reduct	tion Act Notice, see it	nstructions.	C	at No. 1	1289X			Fo	m 990-l	'F (2013)

Part		Attached schedules and amounts in the description column should be for and of year amounts only (See instructions.)	Beginning of year		End c	of year	
r ar		should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Valu	Je	(c) Fair M	larket Value
	1	Cash—non-interest-bearing					
	2	Savings and temporary cash investments	237,918	42	3,805		423,805
	3	Accounts receivable ►					+···
		Less: allowance for doubtful accounts ▶					
	4	Pledges receivable ►	1		7		
		Less: allowance for doubtful accounts ▶					·- ·
	5	Grants receivable					
	6	Receivables due from officers, directors, trustees, and other					
		disqualified persons (attach schedule) (see instructions)	<u> </u>				
	7	Other notes and loans receivable (attach schedule) ▶					
	-	Less: allowance for doubtful accounts ▶	· · · · · · · · · · · · · · · · · · ·	3/			
တ္က	8	Inventories for sale or use					
க்	9	Prepaid expenses and deferred charges					
š t	0 l0a	Investments—U.S. and state government obligations (attach schedule)	27,009	1	6,768		19,168
` .	b	Investments—corporate stock (attach schedule)	2,541,901		1,775		3,537,389
	-	Investments—corporate bonds (attach schedule)	53,649		3,649		
,	1	Investments—land, buildings, and equipment: basis ▶	33,649	ວ	3,049		54,409
1	•	Less: accumulated depreciation (attach schedule)	· · · · · · · · · · · · · · · · · · ·	·			
.		Investments—mortgage loans					
	2						
1 °	3	Investments—other (attach schedule)		resident			
י ו	4	Land, buildings, and equipment: basis ▶	A.G. 15	1 2 3			· · · · · · · · · · · · · · · · · · ·
	_	Less: accumulated depreciation (attach schedule) ▶					
1	5	Other assets (describe Total assets (to be completed by all filers—see the					
ו ו	6	instructions Also assessed item ()					
\dashv		instructions. Also, see page 1, item I)	2,860,477	2,85	5,997		4,034,771
_ I -	7	Accounts payable and accrued expenses		·······		â	
တ္က 1	8	Grants payable				2 2 2 2 2	- 1
≝ 1	9	Deferred revenue					+ F
<u>a</u> 2	20	Loans from officers, directors, trustees, and other disqualified persons		 		300	1200
7	21	Mortgages and other notes payable (attach schedule)					4 27
2	22	Other liabilities (describe ►)					
2	23	Total liabilities (add lines 17 through 22)	0		0		
တ		Foundations that follow SFAS 117, check here				77	***
nd Balances		and complete lines 24 through 26 and lines 30 and 31.				*.	
등 2	24	Unrestricted					1
हू 2	25	Temporarily restricted				1	Ť
8 2	26	Permanently restricted					
		Foundations that do not follow SFAS 117, check here ▶ □					Salas.
뜬		and complete lines 27 through 31.					P 4
Net Assets or Fu	27	Capital stock, trust principal, or current funds	2,860,477	2,85	5,997		
# 2	28	Paid-in or capital surplus, or land, bldg., and equipment fund					*
8 2	29	Retained earnings, accumulated income, endowment, or other funds				3.1	
₹ 3	30	Total net assets or fund balances (see instructions)	2,860,477	2,85	5,997	· 24.	2.87
à 3	31	Total liabilities and net assets/fund balances (see					St. Salar
丄		instructions)	2,860,477	2,85	5,997		
Part		Analysis of Changes in Net Assets or Fund Balances					
		I net assets or fund balances at beginning of year-Part II, colu					
•	end-	of-year figure reported on prior year's return)		[1		2,860,477
2	Ente	r amount from Part I, line 27a		[2		(4,480)
				ľ	3		
		lines 1, 2, and 3			4		2,855,997
-	n	and a second temperature that the contraction of the second beautiful to the s			5		
6	Tota	l net assets or fund balances at end of year (line 4 minus line 5)—	Part II, column (b), lin	e 30	6		2,855,997

Part	(a) List and describe the	Losses for Tax on Investm kind(s) of property sold (e g , real estate e; or common stock, 200 shs MLC Co)),	(b) How acquired P—Purchase D—Donation		te acquired , day, yr)	(d) Date sold (mo , day, yr)
1a	SEE ATTACHED SCHEDULE						
b							
С							
d							
е				1			
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		or other basis ense of sale			n or (loss) f) minus (g)
<u>a</u> b							
d							
e						-	
	Complete only for assets show	ving gain in column (h) and owned	by the foundation	n on 12/31/69		(I) Gains (Col	(h) gain minus
	(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		ss of col (i) ol (j), if any	C	col (k), but not	less than -0-) or rom col (h))
а							115,276
b							
С							
d							
е							
2	Capital gain net income or	INDI CANITAL INCCL (-	also enter in Pa enter -0- in Pa		2		115,276
3	If gain, also enter in Part I	or (loss) as defined in sections , line 8, column (c) (see instruc	tions). If (loss), enter -0- in)			"
Part		er Section 4940(e) for Redu			3		6,930
Was t		section 4942 tax on the distribut qualify under section 4940(e). D			oase pe	eriod?	☐ Yes ☐ No
1		unt in each column for each yea			aking a	ny entries.	
Cale	(a) Base period years endar year (or tax year beginning in)	(b) Adjusted qualifying distributions		(c) of nonchantable-use as	Ť	Dist	(d) ribution ratio divided by col (c))
	2012	162	2,865	3.24	4,976		0501898
	2011		0,838	3,32	6,511		0543627
	2010	153	2,216	3,01	1,715		0505413
	2009	12	7,351	2,10	1,728		0605935
	2008	139	9,644		1,722		0612011
2	Total of line 1, column (d)					2	.2768884
3	•	or the 5-year base period—divi ation has been in existence if le		•		3	.0553777
4	Enter the net value of nonc	charitable-use assets for 2013 for	rom Part X, line	5		4	3,685,418
5	Multiply line 4 by line 3 .				.	5	204,090
6	Enter 1% of net investmen	t income (1% of Part I, line 27b			.	6	1,813
7	Add lines 5 and 6				.	7	205,903
8	Enter qualifying distribution If line 8 is equal to or great Part VI instructions.	ns from Part XII, line 4 ter than line 7, check the box in	Part VI, line 1	b, and complete t		8 tusing a 1	176,329 % tax rate. See the

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see	instructio	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1. 1		
	Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)		
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check	3,627	
	here ► □ and enter 1% of Part I, line 27b		
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of		
•	Part I, line 12, col. (b).		
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	0	+
3 4	Add lines 1 and 2	3,627	1
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0	0	
6	Credits/Payments:	3,627	
а	2013 estimated tax payments and 2012 overpayment credited to 2013 6a 2,500		
b	Exempt foreign organizations—tax withheld at source 6b		
c	Tax paid with application for extension of time to file (Form 8868) . 6c		
d	Backup withholding erroneously withheld 6d	***	
7	Total credits and payments. Add lines 6a through 6d	2,500	
8	Enter any penalty for underpayment of estimated tax. Check here [] if Form 2220 is attached 8		
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed ▶ 9	1,127	
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10		
11	Enter the amount of line 10 to be: Credited to 2014 estimated tax ▶ Refunded ▶ 11		
	VII-A Statements Regarding Activities	(marie)	
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in any political campaign?		
ь	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see	1a	/
D	Instructions for the definition)?	1b	1
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials	* * 1	3 *
	published or distributed by the foundation in connection with the activities.	in the A	4
C	Did the foundation file Form 1120-POL for this year?	1c	✓
ď	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	J-4 4 1	9. 8
•	(1) On the foundation. ► \$ (2) On foundation managers. ► \$		17 0 t
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ▶ \$		192 + 5 196 - 1
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	1
	If "Yes," attach a detailed description of the activities.	- 1 A & B & B	
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of	******	44 /m
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	3	<u>/</u>
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4a 4b	<u> </u>
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	
	If "Yes," attach the statement required by General Instruction T.		\$ · • ≥ · <
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	\$ 6	14 4 6
	By language in the governing instrument, or		4 4 9
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that	1 2 m	* * *
	conflict with the state law remain in the governing instrument?	6 /	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7 /	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions) ▶	0.3	9 * 4 3 % &
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General	4	* .
b	(or designate) of each state as required by General Instruction G? If "No," attach explanation) · · ·
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(i)(3) or	8b /	ć
ð	4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes,"		
	complete Part XIV	9	1
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their		Ė
	names and addresses	10	1

Part	VII-A Statements Regarding Activities (continued)			
. 11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		1
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges? If "Yes," attach statement (see instructions)	12		1
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application? Website address ▶	13	✓	
14		6-874-	B706	
	Located at ► 7140 Camino Del Rey Dr NE , Rockford, MI ZIP+4 ► 4	9341-9	463	
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here and enter the amount of tax-exempt interest received or accrued during the year		•	▶ □
16	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority	. /	Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		1
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of			
	the foreign country ▶			1
Par	VII-B Statements Regarding Activities for Which Form 4720 May Be Required	[/www.inexes]		
4-	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):	3		
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes No (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes			K
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?		-	
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after		*	
	termination of government service, if terminating within 90 days.) Yes No			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here ▶□	2, 4		
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2013?	1c		1 €
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):			
а	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and	As a		
	6e, Part XIII) for tax year(s) beginning before 2013?	₩ X		
	If "Yes," list the years ▶ 20 , 20 , 20 , 20	<i>y</i> 3.	1	
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)	3		
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to	ÿ	r ; j	
	all years listed, answer "No" and attach statement—see instructions.)	2b		1
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here. ▶ 20, 20, 20, 20	* *		
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise	7 %		
	at any time during the year?	7¥ Q	· L	
b	If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or	* 7		
	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the	17.5	×I :	
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of	2.3		
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2013.)	0:	-	. 24
4.		3b		
4a b	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes? Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its	4a	متدن	<u> </u>
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		√

Pari	VII-B Statements Regarding Activities	for V	Vhich Form	4720	May Be F	equire	ed (continu	ıed)		. ago o
. 5а	During the year did the foundation pay or incur a						· · · · · ·	· /		
	(1) Carry on propaganda, or otherwise attempt to(2) Influence the outcome of any specific public						☐ Yes	☑ No		
	directly or indirectly, any voter registration dri	ive?					☐ Yes	 ✓ No		
	(3) Provide a grant to an individual for travel, stu-							✓ No		
	(4) Provide a grant to an organization other than section 509(a)(1), (2), or (3), or section 4940(d							☑ No		
	(5) Provide for any purpose other than religious, purposes, or for the prevention of cruelty to compare the prevention of cruelty the cruelty the prevention of cruelty the cru	charit	able, scientif	ic, litera	ary, or edu	cationa	—	√ No		
b	If any answer is "Yes" to 5a(1)-(5), did any of the Regulations section 53.4945 or in a current notice	transa	actions fail to	qualify	under the	excepti	ons describ		11 133	
	Organizations relying on a current notice regarding	-	-		•		,	<u>.</u> □		
С	If the answer is "Yes" to question 5a(4), does to because it maintained expenditure responsibility	he fou	ndation claim	exem	ption from	the tax	(r⊔ ⊓No		
	If "Yes," attach the statement required by Regula						[] les			
6a	Did the foundation, during the year, receive any on a personal benefit contract?	funds,	directly or in	directly	, to pay pre	emiums	; ∏Yes !	ZINo		
b	Did the foundation, during the year, pay premium If "Yes" to 6b, file Form 8870.					benefi		. 140	6b	1
7a	At any time during the tax year, was the foundation a	a party	to a prohibited	d tax sh	elter transad	ction?	☐ Yes	√ No		2
	If "Yes," did the foundation receive any proceeds								7b	
Par	VIII Information About Officers, Direct	tors, 1	rustees, F	ounda	tion Man	agers,	Highly Pa	id E	mployee	es,
	and Contractors									
1	List all officers, directors, trustees, foundation							<u> </u>		
	(a) Name and address	hou	e, and average irs per week ed to position	(If r	mpensation not paid, iter -0-)	emplo	Contributions to byee benefit placered compens	ans	(e) Expens other allo	
SEE A	ITACHED SCHEDULE									
2	Compensation of five highest-paid employee "NONE."	s (oth	er than thos	se incl	uded on li	ne 1—	see instruc	ctions	s). If nor	e, enter
	(a) Name and address of each employee paid more than \$50,00	0	(b) Title, and a hours per v devoted to pe	veek	(c) Compe	nsation	(d) Contributed employee be plans and def compensat	enefit ferred	(e) Expens other allo	
NONE										
			<u> </u>							
			ļ. <u>-</u> .							
Total	number of other employees paid over \$50,000 .									
										

3	Five highest-paid independent contractors for professional services (see instructions). If none, enter "NONI	E."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
ÒN		
		_
	Laurehour of others were blind and CCO 000 f	
ne	I number of others receiving over \$50,000 for professional services	
a	t IX-A Summary of Direct Charitable Activities	
		
	the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of ganizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1	SEE ATTACHED SCHEDULE OF GRANTS	
	PART XV FORM 990-PF	

2		
3	***************************************	
4		
ът	t IX-B Summary of Program-Related Investments (see instructions)	
	scribe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1	NONE	
2		
	other program-related investments. See instructions	
Al	,	
Al 3		

Part	Minimum Investment Heturn (All domestic foundations must complete this part. Fore see instructions.)	ign founda	tions,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes:		
а	Average monthly fair market value of securities	1a	3,741,541
b	Average of monthly cash balances	1b	
С	Fair market value of all other assets (see instructions)	1c	
d	Total (add lines 1a, b, and c)	1d	3,741,541
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	3,741,541
4	Cash deemed held for charitable activities. Enter 1 $1/2$ % of line 3 (for greater amount, see		
	instructions)	4	56,123
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	3,685,418
6	Minimum investment return. Enter 5% of line 5	6	184,271
Part	and certain foreign organizations check here ► □ and do not complete this part.)	foundations -	S
1	Minimum investment return from Part X, line 6	1	184,271
2a	Tax on investment income for 2013 from Part VI, line 5 2a 3,627		•
b	Income tax for 2013. (This does not include the tax from Part VI.)	. 4	
С	Add lines 2a and 2b	2c	3,627
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	180,644
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	180,644
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1 ,	7	180,644
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26	1a	176,329
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:	7 19.	
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	176,329
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
_	Enter 1% of Part I, line 27b (see instructions)	5	
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	176,329
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating qualifies for the section 4940(e) reduction of tax in those years.	g whether th	he foundation
		Form	990-PF (2012)

Part	XIII Undistributed Income (see instruction	ons)			
1	Distributable amount for 2013 from Part XI,	(a) Corpus	(b) Years prior to 2012	(c) 2012	(d) 2013
	line 7				180,644
2	Undistributed income, if any, as of the end of 2013:				
а	Enter amount for 2012 only				<u> </u>
b	Total for prior years: 20,20,20				
3	Excess distributions carryover, if any, to 2013:				
а	From 2008] ,	[
b	From 2009 23,121			· '	ļ
С	From 2010 2,886				1
d	From 2011				
е	From 2012 3,073				
f	Total of lines 3a through e	70,268			,
4	Qualifying distributions for 2013 from Part XII,	70/200	,		
а	Applied to 2012, but not more than line 2a.				
b	Applied to undistributed income of prior years				
_	(Election required—see instructions)			,	
С	Treated as distributions out of corpus (Election		* /		
ŭ	required—see instructions)		* *	*	
d	Applied to 2013 distributable amount		* * * ,		176,329
е	Remaining amount distributed out of corpus		* \$ 1		, 9 h
5	Excess distributions carryover applied to 2013	4,315	* *	·	4,315
	(If an amount appears in column (d), the same	\$ * / A * *	* 64 6 . ~		4 % -
	amount must be shown in column (a).)	* * * * * * * * * * * * * * * * * * * *	\$ % *	* * * *	
6	Enter the net total of each column as indicated below:	\$			* * * * *
_		******	·** ** * ~ * * * * *		*
a b	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5 Prior years' undistributed income. Subtract	65,953	我接头:一生八五十一	> 1 % <u>\$ 4 </u>	<u> </u>
D	line 4b from line 2b			·) ·
_				<u> </u>	<u> </u>
С	Enter the amount of prior years' undistributed income for which a notice of deficiency has			, , , , ,	- 3 - 4
	been issued, or on which the section 4942(a)	. , , ,			9 8 9
	tax has been previously assessed	*		· · · · · · · · · · · · · · · · · · ·	* * ^
d	Subtract line 6c from line 6b. Taxable			/ *	* * * *
u	amount—see instructions	* * * * *		4 # 2 # *	
_		* * * * * *	· · · · · · · · · · · · · · · · · · ·		<u></u>
е	Undistributed income for 2012. Subtract line 4a from line 2a. Taxable amount—see	, ~ 4	4		
	instructions	* , , , ,	. / ½ + š		· * * .
			, + ** .* .* .*		* * * * * * *
f	Undistributed income for 2013. Subtract lines	⋄ ,	4 6 2 1	, st.	I
	4d and 5 from line 1. This amount must be distributed in 2014	* * * *	^ * * * * * * *		I
_		And L. 7	4.3.4	* *	4,315
7	Amounts treated as distributions out of corpus		* * * * , ,	, ,	
	to satisfy requirements imposed by section		· * * * *	*	* * * * * * *
_	170(b)(1)(F) or 4942(g)(3) (see instructions) .				
8	Excess distributions carryover from 2008 not		~ * *	* ^ • •	, , ,
_	applied on line 5 or line 7 (see instructions) .	21,243	<u> </u>	•	
9	Excess distributions carryover to 2014. Subtract lines 7 and 8 from line 6a	44,710	٠		,
10	Analysis of line 9:	74,710			
a	Excess from 2009	`	· .	,	*
b	Excess from 2010 2,886			İ	, , , , ,
c	Excess from 2011		,		· .
ď	Excess from 2012 3,030	,	1		2
e	Excess from 2013	-		`	
-		,	, ,	. 1	

Part	0-PF (2013) XIV Private Operating Foundat	t ions (see instru	ctions and Part	VII-A, question 9)	Page 10
. 1a	If the foundation has received a ruling	or determination	letter that it is a	private operating	,	
	foundation, and the ruling is effective for					
_	Check box to indicate whether the four		e operating founda		ction	3) or 4942(j)(5
2a	Enter the lesser of the adjusted net income from Part I or the minimum	Tax year	#1 0040	Prior 3 years	1.0010	(e) Total
	investment return from Part X for each year listed	(a) 2013	(b) 2012	(c) 2011	(d) 2010	
ь	85% of line 2a		-	<u> </u>		
c	Qualifying distributions from Part XII,			 		
	line 4 for each year listed		1			
d	Amounts included in line 2c not used directly					
	for active conduct of exempt activities					
e	Qualifying distributions made directly					
	for active conduct of exempt activities.					
_	Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon					
а	"Assets" alternative test-enter:					
	(1) Value of all assets					
	(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b	"Endowment" alternative test—enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
C	"Support" alternative test—enter:					
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public and 5 or more exempt organizations as provided in					
	section 4942(j)(3)(B)(iii) (3) Largest amount of support from					
	an exempt organization					
	(4) Gross investment income			-		
Part	XV Supplementary Informatio	n (Complete th	is part only if t	the foundation h	ad \$5,000 or mo	re in assets at
	any time during the year-		ns.)			
1	Information Regarding Foundation I					
а	List any managers of the foundation vibefore the close of any tax year (but o					by the foundation
NONE	· ,			.		
b	List any managers of the foundation ownership of a partnership or other er			•		ge portion of the
NONE			 			
2	Information Regarding Contribution Check here ▶ ☐ If the foundation of				rganizations and	does not accept
	unsolicited requests for funds. If the foother conditions, complete items 2a, b	oundation makes	gifts, grants, etc.	(see instructions) to	o individuals or or	ganizations under

a The name, address, and telephone number or e-mail address of the person to whom applications should be addressed:

MARILYN FABER 281 FREMONT STREET UPLAND, CA 91784 909-982-6008

b The form in which applications should be submitted and information and materials they should include:

A LETTER EXPLAINING THE CHARITABLE PURPOSE, DETAILED PROJECT INFO, COMPLETED GRANT REQUEST FORM. FORM AVAILABLE UPON REQUEST FROM ABOVE CONTACT

c Any submission deadlines:

REQUESTS ARE REVIEWED IN APRIL AND SEPTEMBER OF EACH YEAR.

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

THE REQUEST MUST BE CONSISTANT WITH THE MISSION STATEMENT OF THE FOUNDATION

Pari 3	XV Supplementary Information (continuous and Contributions Paid During to	nued)	ad for Eur	ture Dayment	
				ture Payment	T
	Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
<u>a</u>	Paid during the year	or substantial contributor	recipient		
a	r ard during the year				
SEE A	TTACHED SCHEDULE				
			:		
			ļ		
	Total			> 3a	,
b	Approved for future payment				
	Total				

		oss amounts unless otherwise indicated.	7	ısiness income	Excluded by secti	on 512, 513, or 514	<u> </u>
			(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	(e) Related or exemption function income (See instructions)
1		gram service revenue:					
	a				<u> </u>		
	b						
	C					 	
	d						
	e ₄						
	1						
_	g	Fees and contracts from government agencies					
2		mbership dues and assessments					
3		erest on savings and temporary cash investments					
4		idends and interest from securities	53325		14	96,025	
5		rental income or (loss) from real estate:					4
		Debt-financed property			ļ		
		Not debt-financed property					
6		rental income or (loss) from personal property per investment income					
7		n or (loss) from sales of assets other than inventory	·				
8 9		t income or (loss) from special events			18	115,276	
10		oss profit or (loss) from sales of inventory			· · · · · · · · · · · · · · · · · · ·		
11		OF FOLION 101 . 0					
• •	b					-	
	C				-		
	d				-		
	e				 		
10		ototal. Add columns (b), (d), and (e)				211 201	
					Landing Control of the Control of th	211,301	
13	Tot	tal. Add line 12, columns (b), (d), and (e)			Kontrikis (1920)	13	
13 (See	To:	tal. Add line 12, columns (b), (d), and (e)	 ns.)	ent of Exemp			
13 (See Pa	To:	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor	tal. Add line 12, columns (b), (d), and (e)	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301
13 (See Par Lin	To wor t X	tal. Add line 12, columns (b), (d), and (e) ksheet in line 13 instructions to verify calculation VI-B Relationship of Activities to the A	 ns.) Accomplishm		t Purposes	13	211,301

Part	XVII	Information	n Regarding Tra	nsfers To and Tran	sactions and	Relationsh	ips With N	loncharita		<u> </u>
			ganizations							
1	in sec organ	ction 501(c) of the izations?	e Code (other than	engage in any of the f section 501(c)(3) orga	nizations) or in s	section 527, i			Yes	No
а				o a noncharitable exer						
								<u>1a</u>		1
		ther assets .						<u>1a</u>	2)	/
р		transactions:								
			a noncharitable ex					<u>1b</u>		/
				able exempt organizat				<u>1b</u>		/
				er assets				<u>1b</u>		✓
								1b		<u> </u>
		oans or loan gua						1b		1
_				hip or fundraising solid				1b		1
C				ists, other assets, or p						
d				es," complete the follo ices given by the repo						
				gement, show in colum						
(a) Line		b) Amount involved		charitable exempt organization		ription of transfe				
(a) Link	110 (b) Amount involved	(c) Name of none	maritable exempt organization	(d) Desc	npuon or transie	ers, transaction	s, and sharing	arrangem	ents
										
	-+								<u> </u>	
	-					-				
										—
					 					
	_									
	-					· · · · · ·				
										
2a	descr	ribed in section 5	501(c) of the Code (ffiliated with, or relate other than section 501	d to, one or mo (c)(3)) or in secti	re tax-exem on 527? .	pt organiza	tions · · □ Y	es 🗹	No
b	II "YE		following schedule	,			410			
		(a) Name of organ	ization	(b) Type of orga	anization		(c) Description	of relationship		
									<u>-</u>	
										
										
										
	Unde	r penalties of perium 1	declare that I have examin	ed this return, including accom	nanving schedules an	d statements and	to the best of n	ny knowledne a	nd helief #	is true
Sign Here	corre			nan taxpayer) is based on all inf	ormation of which prep		wledge	May the IRS di	scuss this	return below
	1	ature of officer or trus	stee	Date	Title	5.51		(see instructions) ⁷ ∐Yes	□No
Paid		Print/Type preparer	's name	Preparer's signature		Date	Check	C # PTIN		
Prep	aror							nployed		
Use		Firm's name ▶	- ·	· · · · · · · · · · · · · · · · · · ·		•	Firm's EIN ▶			
_ 36	Jilly	Firm's address ▶					Phone no			

Part I Line 18 Detail

Foreign taxes paid Michigan Annual Report	\$ 2,625.00 \$ 20.00
	\$ 2,645.00
Federal Excise Tax	\$ 2,581.00
	\$ 5,226.00

Form 990-PF Tax Year 2013

Cost	
Face Value	
BEGINNING OF THE YEAR	

Part II Line 2 Detail	
Money Market	237,917.96
Part II Line 10 a Detail	

San Marcos Ca Pub Facs Auth	10000	99.77	9,977.38
Grand Rapids Kent Cty Bldg	10000	67.91	6,791.00
Name Callot Mail	1 1 1	12.30	5,030.00
Nuveeli Ca Select Mulli	0000	13.00	3,180.00
Total Cost			27,009.18

Cost	19,603.56	13,636.00	19,855.27	3,401.31	36,392.35	51,319.78	20,244.40	43,931.88	41,324.00	18,780.00	4,579.09	26,450.57	52,806.58	32,346.62	21,152.99	9,242.56	3,773.23	66,049.00	25,448.00	20,174.88	55,968.31	20,712.21	24,031.59	20,253.41	22,697.50	18,417.00	19,669.16	3,506.00	45,974.56	19,487.47	19,889.45	49,093.06	52,129.01	1,830.40	1,010.69	20,353.50	4,342.00	18,744.00	20,764.00	20,292.19
'	39.21	8.52	33.09	30.90	18.20	42.77	56.55	21.97	51.66	37.56	13.08	88.17	33.00	32.35	21.15	9.24	21.56	24.46	127.24	26.90	55.97	55.23	25.30	81.01	45.40	46.04	25.38	17.53	22.76	64.96	61.20	49.09	37.24	8.32	20.21	25.44	21.71	46.86	51.91	36.89
Face Value	200	1600	009	100	2000	1200	358	2000	800	200	350	300	1600	1000	1000	1000	175	2700	200	750	1000	375	950	250	200	400	775	200	2000	300	325	1000	1400	220	20	800	200	400	400	220
BEGINNING OF THE YEAR	Carefusion Corp	China Mobile	Coca-Cola Company	Conoco Philips Diebold	Donnelley (R.R.) & Sons	Du Pont	Duke Energy	Eastman Chemical	Eaton Corp	Emerson Electric	Exelis, Inc	Exxon Mobil Corp	General Electric	Heinz	Home Depot	Humana	ITT Corp	Intel	IBM	International Paper Co	Johnson & Johnson	Kellogg Company	Koninklijke/Philips Elec	Lockheed Martin Corp	Magna International	Medtronic	Molex Inc	Nabors Industries	New York Comm. Bancorp	Northrup Grumman	Norvartis AG	PartnerRe LTD	Paychex	Pengrowth Energy Trust	Phillips 66	Portland General Electric	Robbins & Myers, Inc	. Royal Bank Of Canada	Royal Dutch Shell	Sanofi-Aventis

Form 990-PF Tax Year 2013

BEGINNING OF THE YEAR	Face		
	<u>Value</u>	•	Cost
Snap-On, Inc	300	77.77	23,332.19
Southwest Airlines	2055	12.57	25,824.00
Stryker Corp	1000	45.32	45,321.94
Sysco Corp	200	25.50	17,848.00
Taiwan Semiconducter	5074	11.35	57,582.05
Telephone & Data Services	100	26.35	2,635.03
Thomson Reuters Corp	550	37.19	20,453.45
Time Warner Cable	29	49.23	9,894.24
Total S A ADR	200	48.87	24,435.50
Total System Services	296	30.08	29,087.13
Tractor Supply Company	325	61.11	19,862.15
Union Pacific Corp	200	100.30	20,060.22
United Parcel Service	1000	78.01	78,014.34
UnitedHealth Corp	1200	50.31	60,376.22
Walgreen	1400	43.41	60,767.98
Waste Management	009	30.14	18,083.00
Wells Fargo	2500	33.22	83,058.33
Wisconsin Energy Corp	020	31.07	20,196.50
Worthington Inds.	2000	20.47	40,932.37
Xilinx	006	20.89	18,804.03
Xylem, Inc	320	32.43	11,351.16
Zimmer Holdings	800	78.17	62,537.46
			2,200,334.14
Total Securities			2,541,900.99
Part II Line 10 c Detail			
Bonds			
Adelphia Communication	10000		•
Anheuser Busch	10000	92.22	9,221.80
Conoco Philips Bond	20000	108.99	21,798.80
Coca-Cola Bond	20000	113.14	22,628.40
· Total Cost			53,649.00
Tótal Assets			2,860,477.13

Form 990-PF Tax Year 2013	P.J.	and Mary Zor	P J and Mary Zondervan Foundation	ion		Tax ID # 38-2411884
END OF THE YEAR	Face Value	l	Cost	,	Market	Gain (Loss)
Part II Line 2 Detail						
Money Market			424,594.58		424,594.58	
Part II Line 10 a Detail						
San Marcos Ca Pub Facs Auth Grand Rapids Kent Cty Bldg	10000	99.77 67.91	9,977.38 6,791.00	101.34 90.34	10,133.80 9,034.00	156.42 2,243.00
Total Cost			16,768.38		19,167.80	2,399.42

Form 990-PF Tax Year 2013	ax Year 2013	ď	and Mary Zo	P J and Mary Zondervan Foundation	ation		Tax ID # 38-2411884
END OF THE YEAR	<u>/EAR</u>	Face Value	I	Cost	·	Market	Gain (Loss)
Part II Line 10 b Detail	b Detail						
Other							
	Ameridas (APU)	200	23.44	11.720.00	44.57	22,285.00	10.565.00
Ā	Alliance Global High Incom Fund	1984	11.73	24 607 92	14.28	28.331.52	3.723.60
<u> </u>	Enerplus Resources	200	21.67	4,334.00	18.18	3,636.00	(00869)
Fe	Ferrelgas Partners (FGP)	200	21.54	10,770.00	22.95	11,475.00	705.00
Z	ING Groep Perp 7.2%	200	20.78	10,390.00	25.40	12,700.00	2,310.00
Z	ING Groep Perp 6.2%	400	18.23	7,292.00	23.45	9,380.00	2,088.00
ÿ	Senior Housing Trust	400	21.10	8,440.00	22.23	8,892.00	452.00
S.	SPDR Gold Trust	20	94.60	4,730.00	116.12	5,806.00	1,076.00
Te	Templeton Global	7600	7.72	58,762.00	7.95	60,420.00	1,658.00
>	Williams Pipeline Partners	551	40.84	22,501.67	50.86	28,023.86	5,522.19
				163,547.59		190,949.38	27,401.79
Mutual Funds	spur						
آ	Invesco Corp Bond	815.981	6.28	5,120.54	7.01	5,720.03	599.49
Ā	Artisan Intl Value Investor	2950.218	28.93	86,465.81	36.77	108,479.52	22,013.71
可	Europacific Growth	121.89	35.19	4,289.31	49.07	5,981.14	1,691.83
FU	Fundemental Investors	267.498	29.72	7,950.04	51.97	13,901.87	5,951.83
Ē	Franklin Utilities	5315.358	14.23	75,637.55	14.94	79,411.45	3,773.90
				179,463.25		213,494.00	34,030.75
Stocks							
AF	AFLAC	1500	43.79	65,685.51	66.80	100,200.00	34,514.49
A¢	Abbott Labs	1000	19.92	19,917.03	38.33	38,330.00	18,412.97
AÈ	Abbvie, Inc	1000	21.60	21,598.32	52.81	52,810.00	31,211.68
Ac	Adelphia Recovery Trust	9268	0.00	9.76	0.00	19.54	9.78
AE	AEGON NV	2540	15.21	38,625.92	9.48	24,079.20	1,075.25
AF	ARES Capital	487	89.47	43,571.61	17.77	8,653.99	(34,917.62)
¥	Alliance Resource Partners	275	68.21	18,758.43	77.00	21,175.00	2,416.57
Ą.	Apollo Goup	1125	12.75	14,346.67	27.32	30,735.00	16,388.33
AL	Automatic Data Proc	200	38.40	19,200.00	80.80	40,399.50	21,199.50
亩 (BHP Billiton Limited ADR	300	72.18	21,654.99	68.20	20,460.00	(1,194.99)
	Baxter Intl, Inc.	400	54.88	21,952.00	69.55	27,820.00	5,868.00
, R	Berkshire Hathaway Canadian Natural Documen	- 0	106950.00	106,950.00	177,900.00	177,900.00	70,950.00
Š	inadial ivatulal Nesodices	5	00.00	12,322.00	90.00	13,330.00	00.412,1

Affect Legips	<u>Value</u>	, ,	Cost	, 20, 20,	Market	(Loss)
Cardinal Health Carefusion Corp	1000 500	39.21 39.21	39,207.13 19,603.56	66.81 39.82	66,810.00 19,910.00	27,602.87 306.44
China Mobile	1600	8.52	13,636.00	52.29	83,664.00	70,028.00
Coca-Cola Company	009	33.09	19,855.27	41.31	24,786.00	4,930.73
Conoco Phillips	2000	34.01	3,401.31 36.302.35	70.65 20.28	7,065.00	3,663.69
Du Pont	1200	42.77	51.319.78	64.97	77,964.00	26.644.22
Eastman Chemical	2000	21.97	43,931.88	80.70	161,400.00	117,468.12
Eaton Corp	800	51.66	41,324.00	76.12	00'968'09	19,572.00
Emerson Electric	200	37.56	18,780.00	70.18	35,090.00	16,310.00
Exelis, Inc	350	13.08	4,579.09	19.06	6,671.00	2,091.92
Exxon Mobil Corp	300	88.17	26,450.57	101.20	30,360.00	3,909.43
General Electric	1600	33.00	52,806.58	28.03	44,848.00	(7,958.58)
Home Depot	1000	21.15	21,152.99	82.34	82,340.00	61,187.01
Humana	1000	9.24	9,242.56	103.22	103,220.00	93,977.44
TT Corp	175	21.56	3,773.23	43.42	7,598.50	3,825.27
Intel	2700	24.46	66,049.00	25.96	70,078.50	4,029.50
	200	127.24	25,448.00	187.57	37,514.00	12,066.00
nternational Paper Co	750	26.90	20,174.88	49.03	36,772.50	16,597.62
Johnson & Johnson	1000	55.97	55,968.31	91.59	91,590.00	35,621.69
Kellogg Company	375	55.23	20,712.21	61.07	22,901.25	2,189.04
Koninklijke/Philips Elec	950	25.30	24,031.59	36.97	35,121.50	11,089.91
Lockheed Martin Corp	250	81.01	20,253.41	148.66	37,165.00	16,911.59
Magna International	200	45.40	22,697.50	82.06	41,030.00	18,332.50
Medtronic	400	46.04	18,417.00	57.39	22,956.00	4,539.00
Nabors Industries	200	17.53	3,506.00	16.99	3,398.00	(108.00)
New York Comm. Bancorp	2000	22.76	45,974.56	16.85	33,700.00	(12,274.56)
Northrup Grumman	300	64.96	19,487.47	114.61	34,383.00	14,895.53
Norvartis AG	325	61.20	19,889.45	80.38	26,123.50	6,234.05
PartnerRe LTD	1000	49.09	49,093.06	105.43	105,430.00	56,336.94
Paychex	1400	37.24	52,129.01	45.53	63,742.00	11,612.99
Pengrowth Energy Trust	220	8.32	1,830.40	6.20	1,364.00	(466.40)
Royal Bank Of Canada	400	46.86	18,744.00	67.23	26,892.00	8,148.00
Royal Dutch Shell	400	51.91	20,764.00	71.27	28,508.00	7,744.00
Sanofi-Aventis	220	36.89	20,292.19	53.63	29,496.50	9,204.31
Southwest Airlines	2055	12.57	25,824.00	18.84	38,716.20	12,892.20
Stryker Corp	1000	45.32	45,321.94	75.14	75,140.00	29,818.06
Sysco Corp	200	25.50	17,848.00	36.10	25,270.00	7,422.00
Taiwan Semiconducter	5074	11.35	57,582.05	17.44	88,490.56	30,908.51
Thomson Reuters Corp	550	37.19	20,453.45	37.82	20,801.00	347.55
Time Meroer Coble	7.3	70	0 000		1 6 1	

Tax ID # 38-2411884	
P J and Mary Zondervan Foundation	
Form 990-PF Tax Year 2013	

END OF THE YEAR	Face	•				Gain
	<u>Value</u>	•	Cost	•	Market	(Loss)
Total S A ADR	200	48.87	24,435.50	61.27	30,635.00	6,199.50
Total System Services	296	30.08	29,087.13	33.28	32,181.76	3,094.63
Tractor Supply Company	650	30.56	19,862.15	77.58	50,427.00	30,564.85
Union Pacific Corp	200	100.30	20,060.22	168.00	33,600.00	13,539.78
United Parcel Service	1000	78.01	78,014.34	105.08	105,080.00	27,065.66
UnitedHealth Corp	1200	50.31	60,376.22	75.30	90,360.00	29,983.78
Walgreen	1400	43.41	60,767.98	57.44	80,416.00	19,648.02
Waste Management	009	30.14	18,083.00	44.87	26,922.00	8,839.00
Wells Fargo	2500	33.22	83,058.33	45.40	113,500.00	30,441.67
Wisconsin Energy Corp	020	31.07	20,196.50	41.34	26,871.00	6,674.50
Xilinx	006	20.89	18,804.03	45.92	41,328.00	22,523.97
Xylem, Inc	350	32.43	11,351.16	34.60	12,110.00	758.84
Zimmer Holdings	800	78.17	62,537.46	93.19	74,552.00	12,014.54
			2,019,068.27		3,132,945.50	1,129,499.19
Total Securities			2,362,079.11		3,537,388.88	1,190,931.74
Part II Line 10 c Detail						
Bonds						
Adelphia Communication	10000		,	0.01	70.00	70.00
Anheuser Busch	10000	92.22	9,221.80	107.20	10,720.20	1,498.40
Conoco Philips Bond	20000	108.99	21,798.80	104.24	20,847.50	(951.30)
Coca-Cola Bond	20000	113.14	22,628.40	113.86	22,771.70	143.30
Total Cost			53,649.00		54,409.40	690.40
Total Assets			2,857,091.07		4,035,560.66	1,194,021.56

Part IV Capital Gains and Losses for Tax on Investment Income

_
ε
둤
╩
7
ェ
0
ᇨ
ഗ

<u>(a)</u>	9	୭	Ð	Shares		(e)	(B)	(L)	
Snap-On, Inc	_	11/9/20112	10/22/2013	300	100.87	30,262.11	23,332.19	6,929.92	
	H	OTAL SHC	TOTAL SHORT TERM GAIN(LOSS)	VIN(LOSS)		30,262.11	23,332.19	6,929.92	
<u>Long-Term</u>									
<u>(a)</u>	9	ପ୍ର	(P)	Shares		(e)	(B)	वी	
Robbins & Myers		8/6/2009	2/21/2013	200	00.09	12,000.00	4,342.00	7,658.00	
Phillips 66		8/6/2009	4/11/2013	20	63.40	3,077.42	1,010.69	2,066.73	
Portland General Electric		6/16/2011	4/11/2013	800	25.12	24,502.02	20,353.50	4,148.52	
Heinz		2/4/2003	6/10/2013	1000	72.50	72,500.00	32,346.62	40,153.38	
Eaton Vance Ca Muni Income Tr	L	2/18/2010	6/27/2013	404	11.95	4,826.46	5,050.00	(223.54)	
Nuveen Ca Select Muni		2/18/2010	6/27/2013	380	14.76	5,607.64	5,190.80	416.84	
Diebold		8/6/2009	10/22/2013	200	29.58	14,792.23	15,450.00	(657.77)	
Duke Energy		6/16/2011	10/22/2013	358	70.56	25,260.86	20,244.40	5,016.46	
Telephone & Data Sys		8/6/2009	10/22/2013	108	29.15	3,147.91	2,635.03	512.88	
Worthington Industies		6/21/2004	10/22/2013	2000	39.94	79,879.10	40,932.37	38,946.73	
Molex Inc		6/16/2011	12/9/2013	775	38.68	29,977.00	19,669.16	10,307.84	
	⊢ -1	OTAL LON	TOTAL LONG TERM GAIN(LOSS)	N(LOSS)		275,570.64	167,224.57	108,346.07	
	H	OTAL CAP	TOTAL CAPITAL GAIN(LOSS)	(SSO)		305,832.75	190,556.76	115,275.99	

SCHEDULE for Part \	VIII
Form 990-PF LINE 1	

(a)	(b)	(c)	(d)	(e)
Dr. Robert Zondervan	Pres Dir.	\$2,000.00	-0-	-0-
706 W. 10th Street	1hr. Per Wk.			
Claremont, CA 91711				
Mary Beth Schouten	Dir.	\$2,000.00	-0-	-0-
752 Bragg Hill	1hr. Per Wk.	Ψ2,000.00	Ü	·
Norwich, VT 05055				
·				
Thomas B. Kladder	Treas - Dir.	\$17,000.00	-0-	-0-
7140 Camino Del Rey Dr NE	7hr. Per Wk.			
Rockford, MI 49341				
Norman Pylman	Dir.	\$2,000.00	-0-	-0-
1666 Tammarron	1hr. Per Wk.	V =,000000	•	•
Grand Rapids, MI 49546				
			
Marilyn Faber	Sect Dir	\$1,000.00	-0-	-0-
281 Fremont Street	2hr. Per Wk.			
Upland, CA 91784				

Schedule For Part XV Form 990-PF Grants Paid

RECIPIENT	PURPOSE		AMOUNT
Ascending Lights Leadership Network	iGraduate Mentor		\$4,000.00
PO Box 27790	Ministry Training		
Los Angeles, CA 90027	, ,		
Bethany Christian Services	Educational Materials		\$2,500.00
901 Eastern Ave NE			
Grand Rapids, MI 49501			
Calvin Theological Seminary	College Seminary PhD Chair		\$113,300.00
3233 Burton SE			
Grand Rapids, MI			
David's House	Furnishings for New Resident		\$9,779.33
2375 Banner Drive	Homes		
Grand Rapids, Michigan 49509			
Dock Ministries	Bibles for After School		\$2,500.00
4669 S. Division	Ministries		
Wyoming, MI 49548			
Freedom In Christ Ministries	Ministry Training Materials		\$5,000.00
9051 Executive Park Dr, Suite 503			
Knoxville, TN 37923			
Hatian American Friendship Foundation, Inc.	Hunger Relief and School Water		\$7,000.00
PO Box 3421	Project		
N. Fort Meyers, FL 33918			
Health Intervention Sertvices	Poverty Dental Program		\$10,000.00
15 Andre SE			
Grand Rapids, MI 49507			
Mission India	Community Ministries		\$2,250.00
PO Box 141312			
Grand Rapids, MI 49514			
Timothy Leadership Training Institute	Portuguese Translation		\$5,000.00
3233 Burton SE	Seminary Training Materials		
Grand Rapids, MI 49546			
Upper Valley Haven	Educational Materials		\$5,000.00
713 Hartford Ave	For Family Support		
White River Junction, VT 05001			
Wedgewood Christian Services	Outreach Ministry providing		\$10,000.00
3300 36 th Street SE	troubled teen services		
Grand Rapids, Michigan 49518			
	Total	3a	\$176,329.33

NO RECIPIENT IS AN INDIVIDUAL OR A FOUNDATION